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import sys

sys.path.append("statlib™)

from exact import exact_mw_test

exact_mw_test(x, y=NULL, exact=TRUE, hybrid=FALSE, loop=10000)
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x = [[5,3,2,1], [2,3,1,2]]

import sys
sys.path.append("statlib")
from exact import exact_mw_test

a = exact_mw_test (x)

Mann-Whiteny test
U = 33.5, Z =0.9073, p value = 0.36425
exact p value = 0.38374

91 tables are inspected.

import numpy as np
np.random.seed(123) # BA#MOE (EERTFTE)
b = exact_mw_test(x, hybrid=True)

Mann-Whiteny test
U = 33.5, Z =0.9073, p value = 0.36425
simulated p value = 0.38130

based on 10000 times simulation.
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x = [78, 64, 75, 45, 82]
= [110, 70, 53, 51]
c = exact_mw_test(x, V)

Mann-Whiteny test
U=9, Z=0.24495, p value = 0.80650
exact p value = 0.90476

126 tables are inspected.



